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General Instructions:

1.

O N OhE WD

This question paper contains 35 questions.

Marks are indicated against each question.

Answers should be brief and to the point.

Answers to the questions carrying 3 marks may be from 50 to 75 words.
Answers to the questions carrying 4 marks may be about 150 words.
Answers to the questions carrying 6 marks may be about 200 words.
Attempt all parts of the questions together.

An internal choice is available in Question no. 24, 25, 26, 30, 32,33,34,35.

[Maximum Marks: 80]
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The Headquarter of WTO is situated in
(A) Singapore
(B) Geneva
(C) Delhi



(D) London

2. WWW%W% (1)
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DTH services are provided by

(A) Transport Companies

(B) Bank

(C) Cellular Companies

(D) None of the above
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Business between is called International Business.

(A) Two Cities
(B) Two Districts
(C) Two States
(D) Two Countries
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Public deposits are the deposits that are raised directly from:

(A) The Public
(B) The Directors
(C) The Auditors
(D) The Owners
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Krishan plants and Animal Itd. and Ram poultry farms Itd. are engaged in
breathing plants and animals for their use in further reproduction:

(A) Genetic Industry

(B) Extractive Industry

(C) Manufacturing Industry

(D) Construction Industry
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The facility of ‘Home Delivery’ of goods is generally provided by

(A) Wholesaler
(B) Retailer
(C) Agent

(D) Producer
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(
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E-Business includes:

(A) E-Commerce

(B) Production

(C) Production Development



(D) All of the Above

8. WA § Uk UHT o & ST ATOoTh i sl ATATATedT T qIaeqor, Ha=ror ug
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In case of Small scale enterprises, what can be the maximum limit of investment
in plant and machinery? There is a bank in India which supervises, control and
regulate the activities of all the commercial banks of the country. It also acts as a
Government Bank. It controls and co-ordinates the country’s currency and credit
policies. Name of the Bank is: (1)

(A) State Bank of India

(B) Central Bank of India

(C) Reserve Bank of India

(D) None of the above

9 . "Hf AT F oY F AT § TZLTIT AT === STQUIT 3hT AT SR T & (1)
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Deafness in ears due to noise of machines indicates ------------- pollution.

(A)Water Pollution
(B) Air Pollution
(C) Noise Pollution
(D)None of above
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(AT (rTTET HATATT
(B (T AR
is the example of ‘Manufacturer—Wholesaler—Retailer—Consumer’
(A) Retail Trade
(B) Wholesale Trade

(C) Indirect Trade
(D) Direct Trade
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(Fr (TFT AT
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Full form of G.S.T. is ---------------
(A) Good Sales Tax
(B) Goods & Service Tax
(C) Gross Sales Tax
(D) None of These
12.  WTEA &l hald Tt F gIATIT HEahTT o O] UHTET [efHee &7 FahdT 3797 Ioir

HHH | 26% T 25% TZEEET 81 T F9A1 § GSil o = a¥g o TG | €9 grav g
FLRTL T T (9T Ioit T2 (HI07 § TSTET ol & A0 F ST0d qrasie STHH Hhi
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The Central Government of India and the Govt. of Haryana
held the paid up capital of ABC Limited to the extent of
26% and 25% respectively. From this contribution of
capital 1in a company it 1is clear that Govt. exercises
control over the paid up capital of the company. Identify
the Public Enterprise establish 1in the name of ABC
Company:

(A) Government Company



(B) Statutory Corporation
(C) Departmental Undertakings
(D) None of above

13. = fRu 7o fBwedt & ¥ 92t fAwew @ =aw oo
) 1)
ATHFHAT(A): TF ATFTATHE  THIS G ATHIOG I i ATLTLOT &f
I ATeacd Ug [EaTd & forw sif=rer I Fdt g
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Choose one of the correct alternatives given below:
Assertion (A): The assumption of social responsibility by business provides
justification for its existence and growth.
Reason (R): The prosperity and growth of business is possible only through
continuous service to society.
(A) Both Assertion (A) and Reason(R) are true and Reason(R) is the correct
explanation of Assertion (A).
(B) Both Assertion (A) and Reason(R) are true and Reason(R) is not the correct
explanation of Assertion (A).
(C) Assertion (A) is true but Reason(R) is false.
(D) Assertion (A) and Reason(R) both are false.
14. = Ru o GFedt § ¥ ¥l fAdes &1 999 iy -
)1
aﬁ%?l‘rr(A):mﬁ%’QTSTtrﬁwqwehdlEﬁq%gwmﬁwﬁwﬂﬁrw
T ICIT&H A6l T Tohd|
FTLOT(R): THT 90T o HET T AT T AT [FAq<0T grav gl
(T (SATHFAT(A) T FROT(R) AT T g 3T R, A T @gr =amear gl
(JT (ATTFAT(A) T FIOT(R) TN T g A R, A Toh Hal ATSAT Tl
2l
(& ( ATTFHAT(A) TT g ATehd FEOT(R) AT B
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Choose the correct option from the options given below:
Assertion (A): Not all countries can produce the goods they need at a good and
cheap price.
Reason (R): There is unequal distribution of natural resources among all
countries.
(A) Both Assertion (A) and Reason(R) are true and Reason(R) is the correct
explanation of Assertion (A).
(B) Both Assertion (A) and Reason(R) are true and Reason(R) is not the correct
explanation of Assertion (A).
(C) Assertion (A) is true but Reason(R) is false.
(D) Assertion (A) and Reason(R) both are false.

15, fafaarT o o ST § [iga 22 ) 1)

The Investment element lies in which Insurance?
16. HIASUF FT I0 €9 (@] ) 1)

Write full form of C.I.F.

17. sti® OFaT #TUF SaeLur dife| ) 1)

Give one example of economic activity.

18. U HAT ITHH Y&H THIS AT STUIAT TTs STH TAT § =AW FUS
T T BT AT AT(UF SAAEL TU 5 FUS a& gll) 1F:0e/ 5FAT) ) 1)

If the investment on the Equipment of a service Enterprise is upto
crore rupees and annual tureover is upto Rs. Five Crore, it will be known as
Micro unit. (One crore/Ten Crore)

19. 3T /T o forg fakar & v, @die 10 A/1er * feawor FEd 5|
(SsTeR/ eT THY) ) 1)

The detail of the purchased goods from the seller on credit is called
(Invoice/Cash Memo)

20. T ATAT FEQAT HT HAATT FLA | ST grar &l (FH/
STTerF) ) 1)
Doing business of fashion goods involves risk. (Less/more)

21. SAFETH T FHATAL o6 T IS 19 STl T T Fi | ) 3)

Mention any three responsibilities of business towards employees.



22. Tohvgl AT Tolare(Tvieh o (9T HAT3 T HETT Ha e hiTolT| ) 3)
Explain briefly any three electronic banking Services.

23. T SATITC | FT ATHITT g2 THeh! (hegl &1 (ATATA T A0 A2l ) 3)

edarT elaselohW yb naem uoy od tahW? ti fo serutaef owt yna nilapxE.

24. ATAGTIY F ST AN T T I | ) 3)

Discuss statutory characteristics of partnership.
SR

OR
UeRTehT AT & AT T T hi|

State the features of Sole Proprietorship.

25, TR ST H 3T FAT THAT &2 THA! [AATATH T AU | (3)

What do you mean by Departmental Undertaking? Elaborate its features.
AT

OR
LTSI AT &7 1 TATSY 3T THAT (AATATSAT T AU h 97T |

Define MNC's (Multinational Corporation).State its features.

26. TITATAS TfA9<0r & H89 § THATO ) 3)

Explain Statement in lieu of Prospectus.
AAAT

OR
TiEaa¥or ®T AT T Tiaaor fAeTa & 97 3297 872

Define Prospectus. What are the objectives of issuing Prospectus?

27. S-FHTT H AT AT THAA & ? TLILNT AT U -GG H SAqL T8

IS
(4)
What do you mean by E-Business? Differentiate between Traditional businesses

and E- business.

28. SFHTH o GTATITE IL9TT T AU FL
(4)




Describe various social objectives of a business.

29. =TT Tl 21 THgial st Fed | =aoie oy (4)

Describe any two principles of Insurance.
el

OR
ZITAC o AT ATHT T T {17

Explain three benefits of Internet.
30. T T AU ATIR H FA< FArsul (4)
Give difference between Domestic Trade & Foreign Trade.

SREN
OR

Torsa SATITE T3 | F797 SATSTATT 82 THh &l Ie9T1 T AU |

What do you mean by WTO? Discuss its any two objectives.

31. 9 8T ¥ FAT AfITT g2 TEE e &1 AT FqTSU (4)

What do you understand by Public Deposits? Expalin its any two advantages.

32. Y T IURA H AT FAT GHAT 52 TTHIT ARG & I ATAET il 41
qfT 27 (4)

What is mean by Small Scale Enterprise? Describe the role of small business in
rural India?
AT

OR
SUTHAT § AT FAT THA & ? SATHAT 0l [ TTATS /T T 7 |

What is meant by Enterprenureship? Expalin any two characterstics of
Entrepreneureship.

33. 39Tl 3fIT PN U Hl TRHTHT HITT AT 3997 iqe forfem (6)

Define and distinguish between shares and debentures.
ATAT
. OR .
TATTErRTL STLTT o TRTT T (&1 Qe 90 7|

Elaborate the different types of Preference Shares.




34. TS HHT 9 T FT GHAT g ? Tl (0T T ! [Sa=T [Hede @
e (6)

What is Memorandum of Association? Elaborate its subject matter in detail.
EPEH

OR
aTee HaT FEw ve arde ae AEw | w0 st a1l
Differentiate the Memorandum of association and Article of Association with

sixp.oin(t\s. o e 0
35.ﬁTrﬁ'°hLM|3|'HIO|°1I~‘I°h°hH~‘IIﬁ'*li?ﬁ:ﬁd(@ldli'\’l (6)

Give any six differences between Private Company and Public Company.
SR

OR
FIAT T FT ATHATT 82 TRl Tohegl ATT TALTTATS T 0 hITo1T |

What do you mean by company? Explain its any four features in detail.

A
v



MARKING SCHEME

CLASS-XI
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2024-25

Que [Suggested Answers Marking

No Scheme

1 |@T) SeET 1
(B) Geneva

2 | (FogEw 1
(C) Cellular Companies

3 (ST (FTIAr 1
(D) Two Countries

4 | (@ (SFar 1
(A) The Public

5 |(@ (S=fA®w 3= 1
(A) Genetic Industry

6 |(@ (FEwT AR 1
(B) Retailer

7 |ET (SuTE adt 1
(D) All of the above

8 |(FHr (R=a d= aAtw e 1
(C) Reserve Bank of India

9 [ (A wgI 1
C Noise Pollution

10 |(# (3rvcae =R 1
(C) Indirect Trade

11 | (@FEguEEara 1
(B) Goods & Service Tax

12 |(T (AT soer 1




(A) Government Company

13 [T (ATFFIT(A) T FROT(R) AT OF g AT R, A o Tl |1
ST Bl
(A) Both Assertion (A) and Reason(R) are true and
Reason(R) is the correct explanation of Assertion (A).
14 [T (ATIFIT(A) T FROT(R) T T ¢ A R, A T dar| 1
TEAT 2l
(A) Both Assertion (A) and Reason(R) are true and
Reason(R) is the correct explanation of Assertion (A).
15 |Stas s 1
Life Insurance
T ELGEIGIERIED 1
Cost, Insurance & Freight
17 [EFMER g1 HF UF (dhd HiAr 1
Purchase & Sale by a shopkeeper
18 1hTS 1
One crore
19 [T 1
Invoice
20 [T 1
More
21 [FFFETT 6l FHATIAT o IId e dI9 IALTAA:
i, |l &7 AT FA IATT FGA HLAT
ii. AT Al = aad &= T (1x3)
iii. #F F gHAET TIH FIAT (1 3 T IF
iv.  =THeR & 97 3T SEg w5 ERNERRELY!
Responsibilities of business towards employees:
I.  Providing decent working conditions
1i. Pay fair wages to employees
lii.  Providing opportunities to the workers for (1 mark for
meaningful work. each point)

iv. Treating workers fairly
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TAFI A o [T ST

i.  TEETlera e wefie (wdum)
ii. wFRewE
iii. SfEcwHE

Electronic banking Services:
I.  Automatic Teller Machine (A.T.M.)
ii.  Credit Card
iii.  Debit Card

EEERET

f&g & fom)

(%2 mark for
the
heading+Y2
mark for the
explanation)

23

ITh SATIY | ATHITT THT ATAR F g TS| Aaid a&qal =
HATSN 0 TT AT § ICATERT & FF Heh Feh? (ohdTall &l ATel-
STTET WTAT | =7 STaT 2|
T =ATITE HiT fErerar
1. A% SATIRT a&qa H g8f 70 § giadr gl
2. 98 T AU aEqell ¥ g AT war gl
It refers to that type of trade under which goods or
services are bought in bulk from producers and are sold in
small quantities to the retailers.
Features of Wholesale Trade:

1. Wholesaler purchases goods in large quantities.

2. He deals only in certain items.

1 mark for
definition and
1 mark for
each feature

24

HTAET *h AT e

g e e s e 0 e e e s B B N R B D S | G R s

Il 2l
2. AT FT AT FeTHF 2[1 A2 ul

ST A e 2 M i e M s e I R e R e K e e A

pihsrentraP fo serutaeF yrotutatS:

1. A minimum of two persons are required to start a
partnership.

2. Partnership business must be legal.

3. An important feature of partnership is that the
objective of the business is to earn profit.

ro

UhTeht T % SA&TI:

A e L 0 s e 2 I M B e I K L

2. TeTeht SATITE T FATHT {2 3T a9 1 F13 91 T 8l
3. UHThT AT 1 2Tl seEftfee g 2

(1x 3)

(1x 3)

pihsroteirporP eloS fo serutaeF:




1.nosrep elgnis a yb denwo si pihsroteirporp elos A.
2.reganam a sa evres osla netfo renwo ssenisub elos A.
3. detimilnu si pihsroteirporp elos a fo ytilibail ehT .

25

AT IUAT: AANIT STHT UH Grasiias SUHT g [oraH]

T U gLl (90T & &9 4 qataq 937 & Fee § &

ST Bl

[ERINIREERF AR E Fl L

1. TET TATIAT Uk G (9T o T § TLhTL G 00 AT T g

2. T ITHAT 9T AaATH U7 FLHLT TATHA gral 2|

enikatrednU latnemtrapeD: si gnikatrednU latnemtrapeD

emnrevog a sa detarepo si hcihw gnikatrednu cilbup a

retsinim denrecnoc eht fo noitcerid eht rednu tnemtraped .

onikatrednU latnemtrapeD fo serutaeF:

1. Itis established by the government as a government
department.

2. There is mandatory full government ownership of
these deeds.

Or

AEITEIT HOA: T HAAT THT HUT § St gsiia el U
ST § GIAT § A1ehe dg AT T ScATaT U Taha 3T 9 | il
S| Trg AT T Hf Fgl 1T 2l
ERMEIREREIEIREHE I

1. TELTET FUAT T ATETT T4 <901 § HeAT ZIaT g

2. TELTEIA FHaet i forsa TqT 9% ATAATIAT T ATHAT FIAT 21T 2|

itluM-ynapmoC lanoitaN:itluM A - a si ynapmoc lanoitan

i tub yrtnuoc eno ni deretsiger si hcihw ynapmoc

seirtnuoc ynam ni sdoog slles dna secudorp.

itluM fo serutaeF-ynapmoC lanoitan:

1. The business of a multi-national company is spread
across many countries.

2. Multinational company has to face competition at

1 mark for
definition
and 1 mark
for each
point

1 mark for
definition
and 1 mark
for each
point




global level.
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EATATOH TAa20 ;. Tda<ur o HIEH & HUAT STdT I 39T, F0]
oo e o oI Sieas e g AR Fdt gl S T FHAA1 Sad]
ST 39T, 0T 95 WG & [olT SRS Agl Hdl g af ag TTaa<or &
EATH I EATATIS T a2oT [Aerod 1 g

EATATIS STAa¥oT &l TTAae & T I TSETT AT HUT & 979
STHT FXATAT SATdT 8 398 39 Gt a7ai 7 Soor@ grar g S
STeaeor § gl 8

Statement in Lieu of Prospectus: A prospectus is a legal
document that a corporation publishes to invite the public
to subscribe to its shares and debentures. When a
company does not offer its securities for public
subscription, it issues a statement in lieu of prospectus.
\When a firm does not submit a prospectus to the public in
order to invite them to subscribe for shares, a Statement in
Lieu of Prospectus is submitted with the Registrar of
Companies ( ROC ). It’s comparable to a prospectus,
except it’s only a few pages long.

ro

sfaaor & St 39 o ¥ g foed fAtue & gdfaa T
ATl T 3o gIaT g qAT {578 ATeqq § FAAT S[Ta1 Hl 3T,
SROT T 37T o [olT STaae i g AHT HLdT gl
EIEERUIEACELR

1. 39T F FEOTTAT T GIEd o {70 STaT T AT FEAT |

2. I 9T T SAIT AT IO O ST &0 390 o F0Ta=1 T Giiad
T et FeAT 8

3. TH AT T FATTOT FLAT o Tferaor § forelt arat & forw swu«T

. c
AT STALETS 2

eht lla snoitnem hcihw no tnemucod a snaem sutcepsorP
eht siht hguorht dna eussi ot detaler snoitamrofni
serahs rof ylppa ot cilbup eht setivni ynapmoc, serutnebed
cte.
sutcepsorP fo seviteejbO:
1. Invite the public to buy the shares and debentures.
2. Giving details of the conditions on which the public
are to be invited to purchase shares and debentures
3. The directors of the company are responsible for
the things written in the prospectus.

3 marks

1 mark for
definition

and 1mark

for each
point

27

S-TAATT : T-FadTd | ATHITT THT AT T 17074
TORaT 3T e Fede o ATedH | Q0 HLAT ¢

1 mark for
definition

E- dna lairtsudni eht Ila gnitcudnoc ot srefer ssenisuB

and 1 mark

6




retupmoc hguorht seitivitca laicremmoc
krowten (tenretnl).
E-AqHTT U qUsE A99Td § <
i, T
ii. o= sufRafa
fii. wATOAT A AW
iv. A H T AT THA AR & AR I <
Differences between e-business and traditional business:
I.  Establishment
1. 24x7 availability
Ii.  Physical presence
iii. Cost of establishment
iv. Difference in transaction time etc.

for each
point

28

AT o THTOTE 3297

1. 37 foeR 7 a&q0 3T o7
2. TS o ot § AT

3. AR = T 9= AT

4., TS 39T HLlA1

Social objectives of business:
1. High quality goods at fair prices
2. Contribution to community Development
3. Fair return to Investors
4. Providing Employment

(1x4)

EENED
&g % fom)
Y5 Mark for
heading, %2
mark for
explanation
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(A) e 99 % fHaid: T9ar vy g & o9
SeTRar et afq & H&fad I &1 I FC <l g al
AT At B aeq & "@&fdq Gt Afgw AT F SHTRar
T gEATAd 2l AT gl SaTg<v & fou Ife uF =af<h «
STOF W FT SHT HLATAT SC AR AT § T g Tg
Bl AT AT FAAT AT gr A ARy AW AT Fqer iy #7
AT HSI ST HHE 6 AFAUT T AT FAAT T SATART
2Tl

(B) Meaw W &1 frgia: za&r stwwT a8 ¢ & g+
& form Rrerer [Afsa w9 & o gt & Meedw w1
&0 @T STar g, A7 6 @ #R &N SERw & fow fqar
ST 2T AT A FT gl § &% #7 ad g =9 &fd &
Mehedq FRT gl § T FT FZAT 2

(A) Principle of Subrogation: It means that when the
insurer pays a claim relating to a loss, all the rights
relating to the subject matter of insurance are transferred
to the insured. For example, if a person has insured his
house against fire and in case of loss due to fire the entire
amount of fire insurance has been paid to the owner, the
insurance company will have rights over the residuals and
the remains of the house.

(B) Principle of Causa Proxima: It means that the
proximate cause of the loss and not the remote cause is
looked into in order to fix the responsibility for the loss.
For example, marine animals hit and punch holes in a
ship. The proximate cause of this damage is the water in

the ship.
Or

ZeIAC ® ATH:

1. 9999 H AgEE

2. HARSH H HEEF

3. T-FAE § AEIE

4. qAAE H HEEAF

Benefits of Internet:

1. Helpful in Communication
2. Helpful in Entertainment
3. Helpful in E-Commerce

4. Helpful in Payment

2 marks for
each point

Any 4
points

> mark for
heading & ¥
mark for
detail
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EAGEERSECREICICIE IR BE RS
i, srar feskar & T
ii. ICATET & FTEA! HT ATLfar
iii. FSTE & AR dr THG A FEEr
iv. 99 =T gonterat
v. Hq&T ® f=ar
vi. SIEH e F g 9¢ 3dax

Difference between Domestic and International Trade:
I. Nationality of buyer and seller

1i. Mobility of the means of production

iii. Variation in the nature of customers in the market
iv. Different trade systems

v. Currency variation

Vvi. Difference on the basis of risk etc.

or
g = wea ;o B AT e i FT owE Wd

FeT o ATFAT I UE ATI 'WeA g S
FALET ATIE F ATcATgd F9 & 0 92 3 T
siter erf<pat oo gu g

forsg =TT Eed F 3Eed:

1. g =R A #7 TiEHE Sged qu | AT
THATT H AR FAT &

2. fosg AR Hed aguied AR & F@@ET oA T
RIEELI

WTO: World Trade Organisation is a new globally
recognized trade organization with the new name
succeeding GATT having a new vision and more
power to promote international trade.

Objectives of WTO:

1. The primary objective of the WTO is to implement
the new world trade organization.

2. World Trade Organisation wants to promote
multilateral trade.

(1x4)

any 4 points

2 marks for
definition
and 1 mark
for each
point.
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TS+ SHT - Sd & |8 SAFd7 & g9 ST Fd g

AT TH ATESAE ST Fgd 8l

ATaSI = STHT o 9 a9 g

(F) ST 9T T UTRAT WX g ud RRET YT T

gfaeee  od  Ael Bl 99T B ArEmera: R
agdr H OBt Bl

(&) FTESR SHT 92 BT @ =59 §% ud e

HEIT H OWOT i ARG F FH grar gl

Public Deposits The deposits that are raised by

organisations directly from the public are known as public

deposits.

Merits : The merits of public deposits are:

(1)  The procedure of obtaining deposits is simple
and does not contain restrictive conditions as are
generally there in a loan agreement;

(i) (i) Cost of public deposits is generally lower

than the cost of borrowings from banks and
financial institutions;

T FAGE FOANAT UVHT FAAT H g e w=@rHe
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AT 10 FUST TIT Tk g AT FMUF eAa? hil FiEehaq
T 5 FE | ATg® JAT 50 FA€ &IC qF §

UTHIT 9d § gl FAFAEr Al i
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2. TTIE dStear

3. FRE & o osrEEw
4. Saqd & ¥ g9
Small Business means a business that is independently
owned & operated, In which the maximum limit of
Investment in Plant & Machinery or Equipment is more
than Rs.1 Crore and up to Rs. 10 Crore. And the
maximum limit of annual turnover is more than Rs. 5
Crore and up to Rs. 50 crore.
Role of Small scale Business in India:

1. More Employment

2. Economic Strength
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3. Opportunity for Artisan




4. Promotion of standard of living
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Entrepreneurship is the process of setting up one’s own
business as distinct from pursuing any other economic
activity, be it employment or practicing some profession.
Features of Entrepreneurship:

1. Systematic Activity: Entrepreneurship is not a
mysterious gift or charm and something that
happens by chance! It is a systematic.

2. Lawful and Purposeful Activity: The object off
entrepreneurship is lawful business.

3. Innovation: From the point of view of the firm,
innovation may be cost saving or revenue-
enhancing.

4. Risk-taking: It is generally Dbelieved that
entrepreneurs take high risks.

each point
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A share form part of the capital of a company and is a
certificate of ownership in the company. A debenture is
a written instrument of acceptance of a loan drawn up
under the common seal of the company.
Difference between share and debenture:

I. Relationship with company

Ii. Return/Reward

Iii. Participation in management

Iv. Tax benefits

v. Refund of amount invested etc.

or
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Types of Preference Shares

1. Cumulative and Non-Cumulative: The preference
shares which enjoy the right to accumulate unpaid
dividends in the future years, in case the same is not
paid during a year are known as cumulative preference
shares. On the other hand, on non-cumulative shares,
dividend is not accumulated if it is not paid in a
particular year.

2. Participating and Non-Participating: Preference
shares which have a right to participate in the further
surplus of a company shares which after dividend at a
certain rate has been paid on equity shares are called

2 marks for
each point




participating preference shares. The non-participating
preference is such which do not enjoy such rights of
participation in the profits of the company.

3. Convertible and Non-Convertible: Preference shares
that can be converted into equity shares within a
specified period of time are known as convertible
preference shares. On the other hand, non-convertible
shares are such that cannot be converted into equity
shares.
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Memorandum of Association is called as the Charter of the
Company. This is the main document of the company
without which the registration of the company is not
possible. M/A consists of six key clauses:

(1+5)
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I. Name Clause

ii. Place Clause

lii.  Object Clause

iv.  Liability Clause

V. Capital Clause
Association & Subscription Clause

FTaT
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Difference between Memorandum of Association and
Articles of Association

1 mark for
gach
difference




Basis of Memorandum | Articles of
Difference of Association | Association
Objectives Memorandum | Articles of
of Association | Association are
defines the rules of internal
objects for management of
which the the company.
company is They indicate
formed. how the
objectives of
the company
are to be
achieved.
Position This is the Thisisa
main document | subsidiary
of the company | document and
and is Is subordinate
subordinate to | to both the
the Companies | Memorandum
Act. of Association
and the
Companies
Act.
Relationship Memorandum | Articles define
of Assosiation | the relationship
defines the of the members
relationship of | and the
the company company.
with outsiders.
Validity Acts beyond Acts which are
the beyond Articles
Memorandum | can be ratified
of Association | by the
are invalid and | members,
cannot be provided they
ratified even by | do not violate
a unanimous the
vote of the Memorandum.
members.
Necessity Every company | It is not
has to file a compulsory for




Memorandum | a public Itd.

of Association. | company to file
Articles of
Association. It
may adopt
Table F of The
Companies
Act, 2013

Alteration Memorandum | Article of
of association | association can
cannot be be altered by a

easily altered

special
resolution
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Difference between a Public Company and Private

Company
Basis Public company | Private company
Members Minimum - 7 Minimum - 2
Maximum - Maximum - 200
unlimited
Minimum Three Two
number of
directors
Index of Compulsory Not compulsory
members
Transfer of shares | No restriction Restriction on
transfer
Invitation to Can invite the Cannot invite the
public to public to public to
subscribe to subscribe to its subscribe to its
shares shares or securities
debentures
EREI
Or
Fot fafaam g AT uF $6Ew =1t & e o aftaa
BIAT & SHHT TATE ATeacd gIaT g ST THh! UF GTaHaTl gl g

FOe1 T e
EIEIEE NI CEIRS

FOAT T ST AGHATAF TSI & gt Jroea & 7949 Afa+

1 Mark
for each
point
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TITT AT gl 39 9T HSEd] & oA IT ST & Hlz TATS qal
TEATI LTS Ah gq & HILT FIAT HT TAAT Fad
afaf=w % grr g g gwar g1 F9Ar & offede koA #
Fgl T g R

“Members may come, Members may go,

But the Company goes on forever”

i a1fe:

FOAT H oforamhAl #T TR I9% gRT @iie AU e &
Ted d& HHa [T g1 Faa AEr grr Hitaa AT st
T At Fud § UET AT gran FAAT Hr Fgd oFfgw g
g A zaT § oft SferamhEl W A 39 et F T
qfer & #ErE ST "Edr gl

FW_ = i<h:

Foet FT FEH Furiaw =E W1 ATAT € FHiE Fuer
R Y 9ifd IoEl UT gEATET R Hahdl g T e ATH
H §ufy ¥@ 9ad gl Afhd Gl Al Aqiq T8 SifEaa qgl
gt zafa =@ Fw =t F'a €

R EE s kak

FIAT FT ARAT FIA TN F AT raT gl HAAT I
T U IET AT TEQ HT Gwdl gl T ™ & aTE waHl
F AT YIS Aeqed H Srar gl

gnivah wal yb detaerc nosrep  laicifitra na si ynapmoC
dna noisseccus lauteprep a htiw ytitne legel etarpes
laes nommoc.
:ynapmoC fo serutaeF
Perpetual Succession:
The life of a company is the most permanent of all forms of
business organization. It is not affected by the entering or
leaving of members. Being a legal person, the company can
be wound up only by an act. The existence of the company
is said to have:
“Members may come, Members may go,
But the Company goes on forever”
Limited liability:
The liability of the shareholders in the company is limited
to the value of the shares purchased by them. Except in the
case of a company limited by guaranteed or unlimited
liability company. Even in the case of huge loss to the
company, only the outstanding amount of their shares can
be called from the shareholders.

(2+4)
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Avrtificial person:

A company is considered to be an artificial legal person as
the company can sign documents and hold property in its
name like a person. But it does not survive like humans;
hence it is called an artificial person.

Separate existence:

The existence of a company is separate from that of its
members. The company can also file a case against its
members. After registration the company gets a separate
legal entity.

A
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